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Education

Curriculum for Excellence Experiences and Outcomes:
| can use money to pay for items and can work out how much change | should receive. MNU 1-09a

Maths Benchmarks

+ Applies mental agility number skills to calculate the total spent in a shopping situation and is able
to calculate change.

Budgets and Money

Amal needs to get her dads Father’s Day cards.

The cards she chooses are £1 each. Amal gives the shop keeper
£10. How much change does she get?
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She then buys a chocolate bar for £2. How much does she have
now?

Oti wants to get brother Obosi some padded gloves for when he
uses his wheelchair.

She buys a pair for £10 and pays with a £20 note. How much change
does she get?

She also buys sunglasses for £7. How much does she have now?
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= Bradley buys his sister a new rugby ball which cost £12. He pays
. Wwith a £10 and a £5 note. How much change does he have?

He also gets her a rugby themed birthday card for £3. How much
money does Bradley have now?

wants to get a new outfit for the wedding. Her parents give her £200.
She spends £100 on a new dress, £50 on new shoes and £30 on new

Darshini’s brother Nihal is marrying his boyfriend, Ishaan, and Darshini A
jewellery. How much has she spent? F

¢
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She sees a belt which would go well with her dress, it’s £25.

Can Darshini get this too? If she can, how much money does she have left
now? If not, how much more money does she need?
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Curriculum for Excellence Experiences and Outcomes:
| can use money to pay for items and can work out how much change | should receive. MNU 1-09a

Maths Benchmarks

+ Applies mental agility number skills to calculate the total spent in a shopping situation and is able
to calculate change.

Budgets and Money

Amal needs to get her dads father’s day cards. The cards she
chooses are £3 each. Amal gives the shop keeper £10. How much
change does she get?
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Oti wants to get brother Obosi some padded gloves for when he
uses his wheelchair. The ones she wants cost £32. She has £40.
How much change will Oti get?

She wants to get a big bar of their favourite chocolate too. It also
costs £3. Can she afford to get the cards and the chocolate for
her dads?

She also wants to get him some new sunglasses. These are £12.
Can Oti get these too? If she can, how much money does she have
left now? If not, how much more money does she need?

It’s Bradley’s sister’s birthday and he’s been saving up. He

buys her a rugby ball, which costs £25, and a rugby top,
which costs £35, from her favourite team. Bradley has £75.
How much change does he get from the shop?
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He also wants to get her a birthday card for £5. Can Bradley
get this too? If he can, how much money does he have left
now? If not, how much more money does he need?

Darshini’s brother Nihal is marrying his boyfriend, Ishaan, and Darshini

wants to get a new outfit for the wedding. Her parents give her £200. A
She spends £100 on a new dress, £50 on new shoes and £30 on new _ g
jewellery. How much has she spent? F

She sees a belt which would go well with her dress, it's £25.
Can Darshini get this too? If she can, how much money does she have left
now? If not, how much more money does she need?
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Curriculum for Excellence Experiences and Outcomes:
| can use money to pay for items and can work out how much change | should receive. MNU 1-09a

Maths Benchmarks
+ Applies mental agility number skills to calculate the total spent in a shopping situation and is able
to calculate change.

Budgets and Money

Amal needs to get her dads Father’s Day cards. The cards she
chooses are £2.65 each. Amal gives the shop keeper £10. How
much change does she get?
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Oti wants to get brother Obosi some padded gloves for when he
uses his wheelchair. The ones she wants cost £32.95. She has
£41.00. How much change will Oti get?

She wants to get a big bar of their favourite chocolate too. It
costs £3.95. Can she afford to get the cards and the chocolate for
her dads?

She also wants to get him some new sunglasses. These are £10.95.
Can Oti get these too? If she can, how much money does she have
left now? If not, how much more money does she need?

It’s Bradley’s sister’s birthday and he’s been saving up. He
buys her a rugby ball, which costs £24.99, and a rugby top,
which costs £34.99, from her favourite team. Bradley has

£72. How much change does he get from the shop?
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He also wants to get her a birthday card for £3.75. Can
Bradley get this too? If he can, how much money does he
have left now? If not, how much more money does he need?

Darshini’s brother Nihal is marrying his boyfriend, Ishaan, and Darshini

wants to get a new outfit for the wedding. Her parents give her £200. A
She spends £99.99 on a new dress, £49.95 on new shoes and £29.50 on _

new jewellery. How much has she spent? F

She sees a belt which would go well with her dress, it's £22.50.
Can Darshini get this too? If she can, how much money does she have left
now? If not, how much more money does she need?




